Keeper 19

Honors Calculus




IMPLICIT DIFFERENTIATION

- Explicit equations are solved for y,like Y = 3X" = 2X+5

-Implicit equations have y mixed throughout it, like
2Xy = X'y —2X+5y

-Use to find the derivative when there are 2 variables and
you can’t easily solve fory

-Goal is to fmd (to derive with respect to x)




STEPS:

-Differentiate x terms as usual (apply the Power
Rule, etc.)

-Differentiate y terms & ALWAYS put behmd it

-Collect terms on left side & everythmg else on
the rlght 51de.

-Factor out
d
dy

-Solve for —
dx




EX 1. FIND THE DERIVATIVE

Ay &t = -2X
'&gdx QY
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EX 2: FIND THE DERIVATIVE




EX 3: FIND THE DERIVATIVE
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EX 4 FIND THE DERIVATIVE

—xy+y*=1
%x@W%Q 357G, = O




EX 5: FIND THE DERIVATIVE

X =tany




EX 6: FIND THE DERIVATIVE

2L Ahan (ue

X + sm(y >— Xy

|+ Coﬁ(&f\? Ay %\%4:

X 4 +4(D




EX T. FIND THE TANGENT LINE
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